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And a weaver — 97

OVERVIEW

The Xn>72 taught that if one member of the 7¥1 wants to become a weaver (in the
2x1), another member of this %1 can prevent him from doing so.! MmooIn reconciles
this Xn»72 with other seemingly contradictory rulings.

nIdOIN asks:
= DN YN 179) NIV NI 99X ON)

And if you will say; but why is a weaver different from a mill owner -
= 3091 DINNI DININ DIPM YWY DI 930N 91219 1752 TINNY 9159 PNRT 2)PN25Ha )INY

For our mw» taught that ‘he cannot protest and say I cannot sleep because of
the noise of the mill and the noise of the hammer’; why is a 73 different?!

MB0IN answers:
= PNYI PPUII NIINT DYINNRT NWIYN 79X XN 1ISYD NYIYA PNINNT 99D YN

And one can say that in the mmw» the case is that the mill owner is working for
himself (so there is no traffic, only the noise of the mill), however here we are
discussing a %793 who works for others (he weaves cloth for the pubic) so there
are people coming and going, and one can protest this type of disturbance —

nvoN asks:
= 9995 NN FPINT ANIAN 92 INN 471102 129N NN 9NN ON)

And if you will say; but X137 27 ruled shortly, this member of a 12%» who

established a mill in his "127, etc. and another »12n member intended to place another mill

in the same "an -
=INNY NPOO RP NY MMINT DIVN NPDY 20¥1NT NIN NI*T

The rule is that the first miller can prevent him from placing his mill in the same

"2n, since he can tell him, ‘you are infringing on my livelihood’. This concludes

the ruling of 7" -
= NN QY TINRYNY 91D NN SNPNY NPDO NPT DIVN IND INT YNRWUN

It seems that if not for the claim of >nn» npod 8P, the second one would be

! See Paoyn 7"7 2"wA that they may prevent him since this business will increase the noise of the people coming and
going.
29,
3 Why can one protest the noise of the weaver, but not the noise of the mill owner?
4 See 'a Ty
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permitted to place his mill there -
- 52Y9NNY SHYIYT 23 Yy 9N

And even though his is working for others; the mill is a business enterprise —

N1DOIN continues to ask:
=915 99520 YV IMIN 182 NN DN NWIY 'RIN 1) 1P

And later the Xn»22 also teaches us that ‘one may make a store next to his

friend’s store, etc.’; this is true -
- N2V PRE PO NIINT 23 Y N7

Even though there are many people coming and going, and here we say that if it is a
business one can prevent it from opening —

MooIN rejects a possible solution:
= $HMUNIN MINY IN PYNIN DINID 15039 PRYY W 925 ONNT PINY PHT

And it is difficult to differentiate that there (in the cases of 2°°11 and nin) there

is already foot traffic from the first mill or the first store, therefore the additional
foot traffic is somewhat bearable. md01n rejects this answer as a Pr7.

MB0IN answers:
= 959 NINN I8N DNNT 91990 Y

And one can say that there it is permitted because the other business is opening
in another 2217 -

moon offers an alternate answer to his first question: '
= DYINNY NYIYA 133 1P52I3NN ) ON

Or you can also say that our ;mawn, which does not allow anyone to be 25¥» on the

mill and the banging of the hammer is also in a case where he works for others -
= IV HNN DY 19 PIMNVY T2 3 PR PUI) PN YIVSN 91D BN

3 It is obvious that both mills are not private but for business purposes, for otherwise if they were intended only for
private use, how can he claim >nn? npos Xp.
® The question is that n19oIN previously stated that if the mill is used for business one can be 22¥n, and from 7"7 it
seems that the only reason he can be 212¥n is because of competition, but otherwise one would be allowed to
establish a mill for business and no one can be 22¥n.
7 On the 2 7. See ‘Thinking it over’.
8 The rejected proposed answer was that when there is no prior business and one wants to open a new business, the
others may be 22¥n because of the traffic; however in those two cases where there already was a business and there
was already traffic (so the people are used to it), perhaps an additional store will still be bearable. 2010 rejects this
as a pm7 for obviously two stores means much more traffic than one store.
% See previous TR 7"7 '0I0 that a person from one 731 cannot be 20v7 on a person from another %7 (even in the
same "12n). Therefore there is no question from 2> and Man since the new business was in a different 1xr.
10'See footnote # 3.
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But nonetheless by a mill and hammer noise there is not so much foot traffic

for they give him the wheat one time and he grinds it; !! the same is with the smith -
£ 1D PNOAN NAINY DI PNRYY NN W 2793 VAN

However by a weaver there is a lot of foot traffic for many people bring him
yarn to weave -

SUMMARY

The mwn is when it is a private mill or smithy, the case of >773 is a business, the
case of MM 2’1" is in two separate 27Xn, or all cases are businesses, however
there is more traffic by a weaver than by a mill or a smith.

THINKING IT OVER

moon answers that the case of a (121 MM 7¥2) Min is when they are in two
different o°7xn. However when nmpoin asked his question he assumed that they
were in the same 737;'2 why therefore did not n90n ask how can we say that we
cannot be 20vn the mMan, when in our 7awn it clearly states Mnn? 9137 7¥naw nan?!ts

" According to this answer we can also explain why by mim 2n™ they cannot be 25y» (if not for the claim of xp
npod) because in those cases there is little foot traffic.
12 See footnote # 7.
13 See X"wamn and mwn noM.
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